
69

5

2

6 1312

7 3
5

5

8 9

12

13

13

1

5 8
9

12

13

10

15

14

13

21

20

16

2

3

16

23

22

19

18

17

4
9

10

9

16

19 18

17

16

6

7
12

13

7
11

11

10 14 10
14

1313

16

16

18

20

16

4
1

2

22
23

1 3
4

2

11

15

16
20

21

3
1

17 17

18

18

11

74

21

9600 Series Exploded View

See inside front cover for  
How to Order instructions

962 Wood/Deadbolt 962 Wood/Spring Latch

966 Sheet Metal/Deadbolt 966 Sheet Metal/Spring Latch



70

1 1 Clutch Knob Kit (Includes 1 ea. #1, #2,#4) Black 7490608301 $12.00 

2 1 Nylon Spacer (10 Pack) 3403700010 $10.00 

3 1 Escutcheon	Plate	(fits	wood	application	without	trim	plate)	(sm	14-20	gauge) Bright Brass 34031std0301 $10.00 

Escutcheon	Plate	(fits	wood	application	without	trim	plate)	(sm	14-20	gauge) Satin Brass 34031std0401 $10.00 

Escutcheon	Plate	(fits	wood	application	without	trim	plate)	(sm	14-20	gauge) Satin Chrome 34031std26D01 $10.00 

Escutcheon	Plate	(fits	.125	wood	application	with	trim	plate)	(sm	1⁄8”	metal) Bright Brass 340311250301 $10.00 

Escutcheon	Plate	(fits	.125	wood	application	with	trim	plate)	(sm	1⁄8”	metal) Satin Brass 340311250401 $10.00 

Escutcheon	Plate	(fits	.125	wood	application	with	trim	plate)	(sm	1⁄8”	metal) Satin Chrome 3403112526D01 $10.00 

Escutcheon	Plate	(fits	.188	sheet	metal	applications)	(sm	3⁄16”	metal) Bright Brass 340311880301 $10.00 

Escutcheon	Plate	(fits	.188	sheet	metal	applications)	(sm	3⁄16”	metal) Satin Brass 340311880401 $10.00 

Escutcheon	Plate	(fits	.188	sheet	metal	applications)	(sm	3⁄16”	metal) Satin Chrome 3403118826D01 $10.00 

Escutcheon	Plate	(fits	.250	sheet	metal	applications)	(sm	1⁄4”	metal) Bright Brass 340312500301 $10.00 

Escutcheon	Plate	(fits	.250	sheet	metal	applications)	(sm	1⁄4”	metal) Satin Brass 340312500401 $10.00 

Escutcheon	Plate	(fits	.250	sheet	metal	applications)	(sm	1⁄4”	metal) Satin Chrome 3403125026D01 $10.00 

4 1 Knob Retainer Clip (5 Pack) 5401100005 $10.00 

5 5 Push Buttons (.406” long) Black 3401910610 $11.00 

Push	Buttons	(.590”	long)	(fits	.188	and	.250	sheet	metal	applications) Black 20002410610 $11.00 

6 1 Trim Plate Black 3400508301 $8.00 

7 2 Back Cover Plate (2 Pack) 3400600001 $10.00 

8 1 Back Up Plate 3417300001 $10.00 

9 2 Back	Up	Plate	Screws	(7⁄16”	long)	(sheet	metal) 5443000010 $8.00 

10 1 Cam Kit (CT sheet metal, non-spring loaded applications) (assy required) 
(Includes 1 ea. #10, #16, retainer ring) 

2420900001 $12.00 

Cam Kit (CT wood, deadbolt applications) (Includes 1 ea. #10, #14, #16) 2404300001 $12.00 

Cam Kit (CT wood/sheet metal spring loaded bolt applications) (Includes 1 ea. 
#10,#14, #15, #16)

2450900001 $12.00 

Cam Kit (ET sheet metal, non-spring loaded applications) (assy required) 
(Includes 1 ea. #10, #16, retainer ring)

7410400001 $12.00 

Cam Kit (ET wood/sheet metal, spring loaded bolt applications) (Includes 1 ea. 
#10, #14, #15, #16)

7457000001 $12.00 

Cam Kit (ET wood deadbolt applications) (Includes 1 ea. #10, #14, #16) 2403600001 $12.00 

11 2 Cover	Plate	Screws	(#5	-	40	x	5⁄8”	(16mm))		Wood	Machine	Screw	(10	Pack) 5442700010 $8.00 

Cover	Plate	Screws	(#5	-	40	x	3⁄4”	(19mm))		Wood	Machine	Screw	(10	Pack) 5442900010 $8.00 

12 1 Combination Chamber Kit with Spring Return for Cross Throw Models (In-
cludes 1 ea. #1, #2, #4, #12) 

7488100001 $60.00 

Combination Chamber Kit NO Spring Return for deadbolt Models (Includes 1 
ea. #1, #2, #4, #12)

7466200001 $60.00 

Combination Chamber Kit with Spring Return for Spring Loaded End Throw 
Models or Spring Loaded Cross Throw Conversion Kit Models 
(Includes 1 ea. #1, #2, #4, #12)

7491000001 $60.00 

Combination Chamber Kit NO Spring Return for 2 Point End Throw Models 
(Includes 1 ea. #1, #2, #4, #12) 

7467800001 $60.00 

13 2 Combination	Chamber	Screw	Kit	(#5	-	40	X	3⁄8”	long	(8mm)) 5442800010 $8.00 

14 1 Cam Cover (Included in follower kits - see #16) see #16

15 1 Follower Spring (ET spring loaded bolt only) (10 Pack) 5430000010 $8.00 

9600 Series Exploded View (continued)

Item Qty/Lock Description Finish Part Number List Price (USD)



71

9600 Series Exploded View (continued)

16 1 Follower Kit (Sheet metal/wood, CT, spring loaded bolt) (Includes 1 ea. #10, 
#14, #15, #16)

2450900001 $12.00 

Follower Kit (Sheet metal/wood, ET, spring loaded bolt) (Includes 1 ea. #10, 
#14, #15, #16)

7457000001 $12.00 

Follower Kit (Sheet metal, CT, deadbolt) (Includes 1 ea. #10, #16, bushing and 
retainer (Not Shown))

2420900001 $12.00 

Follower Kit (Sheet metal, ET, deadbolt) (Includes 1 ea. #10, #16, bushing and 
retainer (Not Shown))

7410400001 $12.00 

Follower Kit (Wood, CT, deadbolt) (Includes 1 ea. #10, #14, #16) 2404300001 $12.00 

Follower Kit (Wood, ET, deadbolt) (Includes 1 ea. #10, #14, #16) 2403600001 $12.00 

17 1 Latch Bolt Kit (Deadbolt, Round, Sheet metal) (Includes 1 ea. #17, #18; 2 ea. 
#19) 

7403000001 $9.00 

Latch Bolt Kit (Deadbolt, Flat, Rectangular, Wood) (Includes 1 ea. #17, #18, 
#21; 2 ea. #11; 5 ea. #20) 

7456100001 $9.00 

Latch Bolt Kit (Spring Loaded Bolt, Round, Sheet metal or wood) (Includes 1 
ea. #17, #18, #21; 2 ea. #19; 5 ea. #20) 

7470200001 $9.00 

18 1 Bolt Guide (Included in follower kits - see #17)   see #17

19 2 Rivets (10 Pack) 5403001810 $8.00 

20 5 Bracket Screws (Fit wood or metal) (10 Pack) 5401600010 $8.00 

21 1 Strike	(fits	TM/RM	models)	(Included	in	follower	kits	-	see	#17)	 see #17

22 1 Key Override Cylinder (Includes 1 ea. #22, #23) (Specify key cut) 7457300001 $13.00 

23 1 Cylinder Nut (Includes 1 ea. #22, #23) 7457300001 $13.00 

Lubriplate Aero Grease Tubes 6475400001 $13.00 

Additional Kits and Accessories 

 * Specify Finish:  03 - Bright Brass   
04 - Satin Brass 
26D - Satin Chrome

**Specify Key Cut

Notes:
•	If	an	item	number	is	included	in	a	kit	description,	unless	noted,	that	number	is	referencing	the	item	number	on	the	previous	page.

•	If	an	item	number	is	not	shown	on	a	picture	you	are	referencing,	then	it	is	not	used	on	that	model. 

•	Lubriplate Aero grease is the “only” lubricant that should be used.

Parts availability may be limited on older component parts no longer used in production units.

Item Qty/Lock Description Finish Part Number List Price (USD)


